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1p 23 What is the function of paragraph 7? 
A to explain that women tend to be on the defensive 
B to offer alternative reasons for favouring women over men 
C to put the idea that women are victims of bias into perspective 
D to undermine the argument that men are naturally prejudiced 

1p 24 Which of the following sayings applies to George Stigler? (paragraph 8)  
A be caught between a rock and a hard place 
B get a taste of your own medicine 
C there is no smoke without fire 
D you should practise what you preach 

Tekst 7  The word and the world 

1p 25 How does Gavin Jacobson start his review in paragraphs 1 and 2? 
A by explaining why Stefan Zweig conformed to Jewish rules and 

traditions 
B by mentioning how, according to Stefan Zweig, travelling and Judaism 

are linked 
C by stressing that Stefan Zweig’s conversion to Judaism was a sign of 

protest 
D by using Stefan Zweig to illustrate the political repression of Jews at 

that time  

1p 26 What is the function of paragraph 3? 
A to describe the approach Martin Goodman took in recounting the 

history of Judaism 
B to explain how Judaism became increasingly popular in Roman times 
C to make clear why Martin Goodman focuses on the rise of Judaism 
D to stress the major importance of Flavius as a source of the antique 

period of Jewish history 

1p 27 Which of the following fits the gap in paragraph 3? 
A consistency 
B diversity 
C rigidity 
D simplicity 

“Judaism has proved both malleable and resilient” (alinea 4) 
1p 28 In welke alinea herhaalt Gavin Jacobson deze bewering voor het eerst? 

Noteer het nummer van deze alinea. 
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1p 29 Which of the following fits the gap in paragraph 6? 
A Because of 
B In addition to 
C In contrast to 
D With the exception of 

1p 30 Which of the following is one of the points of criticism on Goodman 
mentioned in paragraph 6? 
A He devotes a disproportionate number of words to antiquity. 
B He fails to express his fascination for the Jewish religion. 
C He is too self-righteous to get his main idea across. 
D He lists numerous experts merely to voice his position.  

1p 31 Which of the following best describes the book written by Rebecca 
Abrams, judging from paragraphs 7 and 8? 
A It draws upon the common heritage of Judaism and several other 

religions that originated in the East. 
B It explores the spread of Judaism by comparing the use of religious 

artefacts in various regions. 
C It puts Judaism in a wider social and cultural context by highlighting a 

number of objects. 

1p 32 Which of the following fits the gap in paragraph 8? 
A cosmopolitan 
B far-fetched 
C medieval 
D primitive 

Tekst 8  Touring transhumanism 

1p 33 What becomes clear about Mark O’Connell’s attitude towards 
transhumanism in paragraph 1? 
A He found its ideas about living forever repellent. 
B He had no doubts about its basic theories. 
C He tried to be receptive to its possibilities. 
D He was impressed by its scientific potential. 


